S RIVAL

Ver. 2

UNDERBODY ARMOUR INSTALLATION MANUAL
(GEARBOX)

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM
(GETRIEBESCHUTZ)

Underbody Armour for:

Mercedes X-Class (2018-)
V-2,3 TD

2111.3942.1; 2333.3942.1; 2333.3942.1.6

WWW.RIVAL4X4.COM



<,
%

Y
o8

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




EN Ratchet
S-10;
( DE Ratsche @ e 17

ﬂﬂﬁﬂ ﬂ% ﬂ% ﬂ%

M10x105/35 x1|M10 x3 |H=6 X2 | M6x35 x2 | M10x30 x1| M10x80 X3

e ' P

6 X2 |28 X2 (210 x4




S RIVAL




S RIVAL







S RIVAL

EY Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fiir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemanR Herstellervorgaben werden keine anderen Karosserieteile
besch&digt oderin Mitleidenschaft gezogen.

€Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf’ den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstol3en von/mit Hindernissen und grofden Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol? muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt berprift werden.



@&V Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewahrleistung betragt 12 Monate.

&Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush,;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewibhrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es dirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstanden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fur Fahrzeugschaden jedweder Art und gesundheitliche Gefdhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsanderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

< snization fo,

o® 5
& AR %y AZERN
ISO. ISO
e NS
9001 T5 16949



NHCTPYKLMSA MO YCTAHOBKE

S RIVVAL

3awumTta PK 222.4167.1; 333.4167.1; 333.4167.1.6
WWW.RIVALAUTO.COM
roa | OBBEM | ™n
MAPKA —+  MOAETb pymycka ¢ geuratens | TATKIM S mppgopa
Nissan i Navara D23 i 2015- i 2,5D i BCE i NONHbIl}
Nissan ! Navara D40 : 2005-2015 ! 2,5D; 3,0D : BCE ! MOSHbIN
Nissan : Frontier ! 2018~ : 4,0i ! BCE : MOJHbIV
Nissan [ Pathfinder [ 205-2014 | 2,5D; 3,00 [ BCE [ MO/HbI
Nissan | Navara D23 c Adbue | 2015- ! 2, ! BCE ! MOSHbIN
Mercedes Benz ; X-Class ! 2018- L 2,3TD, 3,0D ! AKMN ; MOMHbIN
BOJ'ITUM 10x80 KpOHUJTel)IIH 1
LLlanba 10 (Navara D40 3.0D, D23; X-Class)

LLlanba KBap.

KpoHwTenH 1

(Navara D40 2.5D; Frontier;

Pathfinder R51) /
Bont M10x30

LWanb6a 10

LLTaTHBIN Kpenex

Bont M8x25 S

LLarba 8
Bont M10x30
LLlaba 10

Kpenex 3awmTbl KM

KpoHwWTeWH 2

3awmTa PK

(NAVARA D40, D23; Frontier; X-Class)

Bont M10x30
LLlan6a 10

E(Navara D40 3.0D, D23; X-Class)

MHCTPYKLIVIFI no yCTaHOBKe:

E(Navara D40 2.5D; Frntier;
Pathfinder R51)

CocTaB Kpenexa:

1. Ocnabutb kpenex (A) sawmTbl KMM.

2. 3akpenuTb KpoHLWTelH 1 k pame a/m 6ontom M10x80 (ua E).

X-Class: nepef ycTaHOBKOW KPOHLUTENHA NpeBapUTENbHO CHATb KOXYX C MPOTUBOMONOXHOM CTOPOHbI
pambl.

3. YcTaHoBWTb raiiky 3aknagHyto M10x65/20 Hag otBepctuem (B).

NAVARA D40, D23; Frontier: oTkpyTUTb LITaTHbI 6ONT kpenneHus 6aka, LWTaTHbIA 6onNT nogyLukm
rMyLWNTENS U YCTAHOBUTL KPOHLLTENH 2. CepeanHy KpoHLTelHa 3akpenutb 6ontom M10x30.

X-Class: oTKpyTWUTb LUTATHbI 6ONT kpenneHus 6aka 1 ycTaHOBUTb KPOHLUTENH 2. CepeanHy KPOHLUTeHa
3akpenutb 6onTom M10x30 (B), a neswlit chnaxel, 3akpenuTs Gontom M8x25 (B).

4. MNepepHtoto YacTb 3awuThl PK 3aBectu nog 3agHoto vacTb 3awuThsl KNI, a 3afH00 YacTb 3akpenuTh:
NAVARA D40, D23; Frontier; X-Class: k ycTaHOBNeHHOMY KpoHLUTenHy 2 6ontom M10x30 (I).

Pathfinder R51: k usorHyTon nonepeyHoit 6anke ¢ nomolbio 6onta M10x30 1 ycTaHOBNEHHOM 3aknagHomn
raiike M10x65/20. BokoByto YacTb 3aKpenuTb K yCTaHOBMEHHOMY KpPOHLUTENHY 2 6ontom M10x30 ().

5. BaTsiHyTb BCe pe3bboBble coeanHeHus. VIcnonb3oBaHne NHEBMOUHCTPYMEHTA 3anpeLLeHo.

HanmeHoBaHne

Bont M8x25

Bont M10x30

Bont M10x80

LWaiba 8

LWaiba 10

Bawwra PK

KpoHLuTenH 1

KpoHLuTenH 2

[aika 3aknagHas M10x65/20

Kon-Bo

1 wr.
3 wr.
1 wr.
1 wr.
4 wr.
1 wr.

2 wr.

1 wr.
1 wr.

MoMEHT 3aTaxKm

24.0 Hm
47.0 Hm
47.0 Hm

npOI/IBBOﬂ,VITEJ'Ib BrpaBe BHOCUTb U3MEHEHNSA B KOHCTPYKLUMIO 3aLLUThI.

TexHuuyeckas noaaepxka: supp@rivalauto.com



ver.2

UNDERBODY ARMOUR INSTALLATION MANUAL
(RADIATOR)

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM
(RADIATORSCHUTZ)

Underbody Armour for:

Nissan Navara D23 (2015-); Nissan Navara D40 (2005-2015);
Nissan Frontier D40 (2008-); Mercedes X-Class (2017-2020)

2111.4164.2.3  2333.4164.2 2333.4164.2.6

WWW.RIVAL4X4.COM



S RIVAL

EN Regular fasteners
..& DE Originale montageteile

$o*
EN Regular fasteners
o DE Originale montageteile
.@’
EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
‘4: -

EN Loosen bolts
DE Bolzen lockern
-l

EN Movement Arrow
lll* DE Bewegungsrichtung

EN Location/Position Arrow
mmp | DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




X2

& =

5

x1| @12

12
NN

1

1

/

4
M

x1 | M8x100

8
0

1

X2

4
&

X2|M12-1,25x30

E

x1|M8x70/2

9

4,

x1

1

ey A

x4 (210 x2 | M6x35 X2

8

5]

X2

x4 [M10x30

M8x35
13




Navara D23

Navara D40 ‘

N
[0 \-!

-

I

P o
5]

=)




> RIVAL

Navara D23/D40

Navara D23/D40 ‘

9O
°




S RIVAL

Navara D23/D40 ‘

A

é"

|

P




> RIVAL

Navara D23 E Q
%
M8=24 Nm
RV
/
0 AL ° °© '
S

1 m Ol Hgﬁﬂg O

Navara D40 “ Q
— 2 "C'».‘v

M12=81 Nm

9;6




ver.2

Navara D40/D23

oY =
S T
@ — O
o 16
. EILI #EE v
CJ0000
© O A (0000
5 o O
Navara D40/D23
7;10 |
0 ® L\’
S ¥
[ =l )
ﬁ’ L‘:—'@—':_____g‘x:o
O L.L @)
£ o J
. ' E‘l—l 0
0000
© — (0000
@] °e




ver.2

Mercedes X-Class

12; gl
q @ \ \
© 2
=
° De O ¢ O
Q O
. 0
(0000
© 0000
0 0
Navara D23/D40 ‘ E
Y\ [ = | [V
BEIVAL,
20
© O
(e} ]




ver.2

Navara D23/D40 ‘

mrp

uy < M8=24 Nm
8;11 1~ % } 811~ 3
Sk e B
5o BEINZA\L, \ .‘é?‘,
o i M10=47 Nm
T B0
O ~ O
T|A O Y D
B) . C
o i J o)
. ,, . C
Navara D23/D40 ‘ Q
- E N
A
\ Al J ] ey \
= O
O \—“‘\
- Teo__ @& 9
e |
N 9 o
o 4 0
o L. . (




> RIVAL

ver.2

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fur jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal} Herstellervorgaben werden keine anderen Karosserieteile
beschadigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstol3en von/mit Hindernissen und grofen Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol? muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt Gberprift werden.



ver.2

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewahrleistung betragt 12 Monate.

@Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
that was notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es dirfen keine Schaden durch die Kollision mit Hindernissen/Gegensténden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller Gbernimmt keine
Haftung flir Fahrzeugschaden jedweder Art und gesundheitliche Gefahrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behéalt sich vor, Design und
Konstruktionsanderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

< @nization for
Q

A

5
& AR % LR
£ 5
ISO: ISO
2
NS T NS
9001 TS 16949



> RIVAL

UNDERBODY ARMOUR INSTALLATION MANUAL
(ENGINE BAY)

MONTAGEEINLEITUNG FUR
UNTERBODENSCHUTZSYSTEM (MOTORSCHUTZ)

Underbody Armour for:

Nissan Navara D23 (2015-); Nissan Navara D40 (2005-2015);
Nissan Frontier D40 (2008-); Mercedes X-Class (2017-2020)

2111.4165.2.3  2333.4165.2  2333.4165.2.6

WWW.RIVAL4X4.COM



ver.2

EN Regular fasteners
.«.;% DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

.@’
EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen

‘4: -
EN Loosen bolts
DE Bolzen lockern

-l

(07N EN Drill
/ ? DE Bohrer
)

EN Screwdriver
DE Schraubenzieher

EN Office Knife

N
N !
\.\ DE Biiromesser

EN Movement Arrow
lll* DE Bewegungsrichtung

EN Location/Position Arrow
mmep | DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




ver.2

EN Ratchet
DE Ratsche

M10x80

x3

M10 x2 |[M10x40

X2

M10x70 X3




S RIVAL

Navara D23/D40




ver.2

Navara D23/X-Class




ver.2




> RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fur jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal} Herstellervorgaben werden keine anderen Karosserieteile
beschadigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstol3en von/mit Hindernissen und grofen Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol? muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt Gberprift werden.



ver.2

&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewahrleistung betragt 12 Monate.

@Y Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
that was notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es dirfen keine Schaden durch die Kollision mit Hindernissen/Gegensténden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller Gbernimmt keine
Haftung flir Fahrzeugschaden jedweder Art und gesundheitliche Gefahrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behéalt sich vor, Design und
Konstruktionsanderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

< @nizatfon for
Q

A

5
& AR % LR
£ 5
ISO: ISO
2
NS T NS
9001 TS 16949



	333.3942.1.6; 333.3942.1; 2111.3942.1.3_Merсedes Banz_X-class_18-_4WD_KPP_instr_ENG
	333.4167.1, 222.4167.1, 333.4167.1.6_Nissan Navara 15 KZ-Инстр
	2333.4164.2; 2333.4164.2.6; 2111.4164.2.3 Nissan Navara 2015-_Radiator
	2333.4165.2; 2333.4165.2.6; 2111.4165.2.3 Nissan Navara 2015-_Engine



